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DIVISION OF INTEGERS

1. For addition of 2 positive integers on number line, from

the position of the first integer one has to move further

]

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EAjrXUDDXSyu

2. For addition of 2 negative integers on number line,
from the position of the first integer one has to move

further U

° Watch Video Solution

3. For subtraction of 2 positive integers on number line,

from the position of the first integer one has to move

further

° Watch Video Solution



https://dl.doubtnut.com/l/_EAjrXUDDXSyu
https://dl.doubtnut.com/l/_0zdvX31OMKNd
https://dl.doubtnut.com/l/_bijfQ40oWTjy

4. For subtraction of 2 negative integers on number line,

from the position of the first integer one has to move

further [

o Watch Video Solution

5. Let's us match two sided verifying the laws:-

(+6)+(-2)=(-2)+(+6)

o Watch Video Solution

6. Let's us match two sided verifying the laws:-

(=8 —-(+2)#(+2) - (-8

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_WnO3iYSi9qeU
https://dl.doubtnut.com/l/_kIVaXeq6XOYT
https://dl.doubtnut.com/l/_iwr44s5QLo5P

7. Let's us match two sided verifying the laws:-

(=D - (-1} = (-12) # (=1) - {( - 11) — (12)}

° Watch Video Solution

8. Let's us match two sided verifying the laws:-

(+)+ (=N + (1) =(+3)+{(-7) +(-11)}

° Watch Video Solution

9. Let us write a negative integer which is the sum of two

negative integers.

.y l


https://dl.doubtnut.com/l/_iwr44s5QLo5P
https://dl.doubtnut.com/l/_pKGufI1jsk6H
https://dl.doubtnut.com/l/_fXq5OCYh2zDP
https://dl.doubtnut.com/l/_ZlWGmEqNU9O1
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10. Let us write a negative integer which is the sum of two

negative integers.

° Watch Video Solution

1. Let us write such a negative integer which is the

difference of two negative integers.

° Watch Video Solution

12. Fill in the blanks.

6x(—8) =7= —48

| - |


https://dl.doubtnut.com/l/_ZlWGmEqNU9O1
https://dl.doubtnut.com/l/_p43RB1C0C3D1
https://dl.doubtnut.com/l/_bMkDV416UHQf
https://dl.doubtnut.com/l/_qvVLnnOM9fTk

l ¥J Watch Video Solution I

13. Fill in the blanks.

TxX(-3)=7=-21

° Watch Video Solution

14. Fill in the blanks.

° Watch Video Solution

15. Let's find the value of ( —5) x ( — 2) starting from

(—5) x2



https://dl.doubtnut.com/l/_qvVLnnOM9fTk
https://dl.doubtnut.com/l/_pqBStGZn9F21
https://dl.doubtnut.com/l/_gP9rnFXQnE0q
https://dl.doubtnut.com/l/_u35nC6Q2J6vD

\ ° Watch Video Solution

16. Let's find the value of ( — 7) x ( — 3) starting from

(—=7)x3

o Watch Video Solution

17. Let's Find the value of ( — 6) x ( — 2) starting from

(—6) x4

° Watch Video Solution

18. Let's find the value of

(=) x(—9) =7


https://dl.doubtnut.com/l/_u35nC6Q2J6vD
https://dl.doubtnut.com/l/_udDqC3d96rGF
https://dl.doubtnut.com/l/_3UnaPkVBRLXI
https://dl.doubtnut.com/l/_mD9WEt731Hhl

° Watch Video Solution

19. Let's find the value of

—2x (—33) =

° Watch Video Solution

20. Let's find the value of

O0x(—6)=7

° Watch Video Solution

21. Let's find the value of

(—12) x (—3) =7


https://dl.doubtnut.com/l/_mD9WEt731Hhl
https://dl.doubtnut.com/l/_L72MYDUoI7L1
https://dl.doubtnut.com/l/_E4I2XUawuAk3
https://dl.doubtnut.com/l/_Iydkm9zjjrl7

° Watch Video Solution

22. Let's find the value of

(—=T)x0=7

° Watch Video Solution

23. Let's complete the table given below:

(—20) x 11+ ( —35) x 20 = ?

° Watch Video Solution

24. Let's complete the table given below:

4x(—4)+(-5)x5=7


https://dl.doubtnut.com/l/_Iydkm9zjjrl7
https://dl.doubtnut.com/l/_lah48FwH6Kkw
https://dl.doubtnut.com/l/_G3vIWpIloTLd
https://dl.doubtnut.com/l/_GbCss5X9Gmbo

° Watch Video Solution

25. Let's complete the table given below:

(—6) x(—10)+(—4) x4=7

° Watch Video Solution

26.50lve :- ( — 6) x (—5) x (—3) = ?

° Watch Video Solution

27. Solve

(—5)x(—2)x(—10)x (—8) x(—3) =7

[ ° WAL _L vl e~_ ..


https://dl.doubtnut.com/l/_GbCss5X9Gmbo
https://dl.doubtnut.com/l/_MKBcptE86JOk
https://dl.doubtnut.com/l/_ezjZwhpxos7y
https://dl.doubtnut.com/l/_EtmwWfkPSLMy
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28.5olve:-( —11) x (= 12) x (—2) =7

° Watch Video Solution

29. Solve

(—1) x (=9 x(=5)x(—6)x(—3) =7

° Watch Video Solution

30.Solve -9 x (8 + 3)?

° Watch Video Solution



https://dl.doubtnut.com/l/_EtmwWfkPSLMy
https://dl.doubtnut.com/l/_uwgqWIvsQ4oS
https://dl.doubtnut.com/l/_cEYHAGpYrN30
https://dl.doubtnut.com/l/_SaSPrhhrEfWD
https://dl.doubtnut.com/l/_WdteMgiOHZZX

31.Solve:-6 x (5 +4) =7

o Watch Video Solution

32. Mizanoor, Tiratha and nafura appeared for an
examination, there were 10 Question in the examination.
In this examination one will get 5 marks for each correct
answer and -2 marks for each incorrect answer. A)

Mizanoor has got 6 correct and rest 4 incorrect answers.

o Watch Video Solution

33. Mizanoor, Tiratha and nafura appeared for an

examination, there were 10 Question in the examination.


https://dl.doubtnut.com/l/_WdteMgiOHZZX
https://dl.doubtnut.com/l/_Yn7qfxxVI7yK
https://dl.doubtnut.com/l/_sRAMbwMP0Yf7

In this examination one will get 5 marks for each correct
answer and -2 marks for each incorrect answer. A) Tirath

has got 5 correct and remaning 4 incorrect answers.

o Watch Video Solution

34. Mizanoor, Tiratha and nafura appeared for an
examination, there were 10 Question in the examination.
In this examination one will get 5 marks for each correct
answer and -2 marks for each incorrect answer. A) Nafura
has got 3 correct and remaning 7 incorrect answers.let's

find what is the marks obtained by Nafura.

o Watch Video Solution



https://dl.doubtnut.com/l/_sRAMbwMP0Yf7
https://dl.doubtnut.com/l/_ORT3JtZDfiid

35.In a furniture shop, 15 wooden almirahs were sold in a
month there was a profit of Rs 300 on each of the 10
almirahs. But from remaning 5 almirah there was a loss of
Rs 200 per almirah. What is the profit or loss the shop

owner for the month let's find.

o Watch Video Solution

36. In a cool mine a lift goes down from the surface at the
rate of 6 meter per mintue. Let's find what will be its
position after 30 mintues. If the lift would have started
getting down from a place 20 m above the ground what

will be its position after 30 mintues, Let's find.Let's


https://dl.doubtnut.com/l/_5rjrLGS6X0J8
https://dl.doubtnut.com/l/_Pww3OBIjp58r

assume the distance above the ground to be positive and

thats below the ground to be negative.

° Watch Video Solution

37. In another mine, the lift goes down 4 m in every one
min. what will be the position of the lift after an hour,

Let's find.

° Watch Video Solution

38. In another mine, the lift goes down 4 m in every one
min. If the lift starts from 15 m above the ground, let's

find the position of the lift after 30 mintue.

[ o AL _L vl ~_ ..


https://dl.doubtnut.com/l/_Pww3OBIjp58r
https://dl.doubtnut.com/l/_oOEXsOUZzoGU
https://dl.doubtnut.com/l/_p6O8a86DpQJ6
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39. Let's take 4 examples with numbers and show that
division of integers do not follow the law of association.

125 = {( — 25) = (5)}

° Watch Video Solution

40. Let's take 4 examples with numbers and show that
division of integers do not follow the law of association.

36 {18+~ (—2)}

° Watch Video Solution



https://dl.doubtnut.com/l/_p6O8a86DpQJ6
https://dl.doubtnut.com/l/_SXQchIKUbgoS
https://dl.doubtnut.com/l/_WMsFoXYOxvNb

41. Let's take 4 examples with numbers and show that

division of integers do not follow the law of association.

—12+{(—-8) +2}

o Watch Video Solution

42, Let's take 4 examples with numbers and show that
division of integers do not follow the law of association.

60 ~ {20 = ( —4)} # (60 +20) = ( — 4)

° Watch Video Solution

43. Let's calculate the values metally:

(—10) x4 =7


https://dl.doubtnut.com/l/_CqjEb1AtJnMp
https://dl.doubtnut.com/l/_wFCbYx4Loq10
https://dl.doubtnut.com/l/_FORjBC0QCEWR

° Watch Video Solution

44, Let's calculate the values metally:

(—15) x 7= —90

° Watch Video Solution

45, Let's calculate the values metally:

25 x 7 = —125

° Watch Video Solution

46. Let's calulate the values mentally: ( — 16) x [ = 96

[ ° WA L_L vl e~_ ..



https://dl.doubtnut.com/l/_FORjBC0QCEWR
https://dl.doubtnut.com/l/_QRxVdVrzCjns
https://dl.doubtnut.com/l/_snaInpbgdX4m
https://dl.doubtnut.com/l/_ZB5MH9jz44x7
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47. let's calulate the values  mentally

(—13) x O = — 104

o Watch Video Solution

48. Let's calulate the values mentally: [1 x 21 = — 126

° Watch Video Solution

49, Let's calulate the values mentally: ( — 16) x [ = 96

o Watch Video Solution



https://dl.doubtnut.com/l/_ZB5MH9jz44x7
https://dl.doubtnut.com/l/_qAld8BWGZaFn
https://dl.doubtnut.com/l/_pfgceJa76e7k
https://dl.doubtnut.com/l/_m69MqMr6b2Mr
https://dl.doubtnut.com/l/_Lkt7S2ioGveN

50. Let's calulate the values mentally

O x (— 30) = 330

o Watch Video Solution

51. Let's calulate the values mentally: ( — 26) ~ 0 =1

° Watch Video Solution

52. Let's calulate the values mentally: [J =1 = — 29

o Watch Video Solution

53. Let's calulate the values mentally: [J -+~ —59 = —1


https://dl.doubtnut.com/l/_Lkt7S2ioGveN
https://dl.doubtnut.com/l/_3BxscaUM2WGQ
https://dl.doubtnut.com/l/_0ACK4cqFGWs9
https://dl.doubtnut.com/l/_7xTAZQHQCZJn

° Watch Video Solution

54. Let's calculate the values metally:

?7 - 87T = — 87

° Watch Video Solution

55. In an examination joseph answered 15 question, of
which 9 answers were correct answers but the remaining
6 were incorrect. If he gets 5 marks for each correct
answer and his total is 33, let 's find the marks alloted for

incorrect answer in the examinations.

° Watch Video Solution



https://dl.doubtnut.com/l/_7xTAZQHQCZJn
https://dl.doubtnut.com/l/_tYPDbnxWnVYX
https://dl.doubtnut.com/l/_EjnpxsGsX5ns

56. Rehana and sayan both appered for an examination &
each of them will have to answer 12 questions (i) Rehana
got 36 marks in total by answering 8 questions correctly
and remaining 4 questions incorrectly. If she got 6 marks
for each correct answers. (ii) Sayan got 6 questions
correctly and remaining 6 questions incorrectly. Let's find

total marks obtained by him.

o Watch Video Solution

57. Temperature of a certain place is 12°C. If the
temperature reduces uniformly in every hour and reaches
to -40° C after 8 hour. Let's find the rate of reduction of

temperature hour.



https://dl.doubtnut.com/l/_cZlYYGuMaGtp
https://dl.doubtnut.com/l/_igRPOOsoBh8F

l @9 Watch Video Solution I

58. A lift in a mine moves down 24m in 8 mins. If its moves
in an uniform rate, let's find at what distance below the
surface, it will be after 6 mins. If the lift starts from a
height 10 m above the ground, let's find how deep the lift

will go from the surface after 70 mins.

o Watch Video Solution

59. Let fill up the blanks squares :-

-16+(-2)+7= -1

o Watch Video Solution



https://dl.doubtnut.com/l/_igRPOOsoBh8F
https://dl.doubtnut.com/l/_ejOOEmwlRt7d
https://dl.doubtnut.com/l/_k8Kh4Rx95wGG
https://dl.doubtnut.com/l/_Xg4wf4QmC45O

60. Let fill up the blanks squares :-

20-50+7= -1

° Watch Video Solution

61. Let fill up the blanks squares :-

41x(=5)+?7= —3

° Watch Video Solution

62. Let fill up the blanks squares :-

(=9 x(—-3)x?=-281

° Watch Video Solution



https://dl.doubtnut.com/l/_Xg4wf4QmC45O
https://dl.doubtnut.com/l/_pHLOmhTqMDg0
https://dl.doubtnut.com/l/_zwIbEM7gfc7j

63. Let fill up the blanks squares :-

(—15)+(—-5)—7= —1

° Watch Video Solution

64. Let fill up the blanks squares :-

(—18)+?7+3= —6

° Watch Video Solution

65. Let fill up the blanks squares :-

?7+4-2= -7

° Watch Video Solution



https://dl.doubtnut.com/l/_AsiVNBIbdhOl
https://dl.doubtnut.com/l/_eyxvm6eYJtGo
https://dl.doubtnut.com/l/_4SB0vNQIpamw

66. Let fill up the blanks squares :-

?x(-1)4+0=0

° Watch Video Solution

67. Let us take 2 examples to show that the commutative
law holds in case of multiplication but does not hold for

division of integers.

o Watch Video Solution

68. Let us take 2 examples to show that the distributive
law holds in case of multiplication but does not always

hold for division of integers.


https://dl.doubtnut.com/l/_cv4ozTNLMCCG
https://dl.doubtnut.com/l/_incP7hM1Fvyf
https://dl.doubtnut.com/l/_Bn3bGT5czmaa

° Watch Video Solution

69. Let's find the values of the following — ( — 125) + 5

° Watch Video Solution

70. Let's find the values of the following — ( — 144) + 6

° Watch Video Solution

71. Let's find the values of the following — ( — 49) + 7

° Watch Video Solution



https://dl.doubtnut.com/l/_Bn3bGT5czmaa
https://dl.doubtnut.com/l/_JMTXHfqYYmxW
https://dl.doubtnut.com/l/_QIxxkCEfUAjI
https://dl.doubtnut.com/l/_fIARw63W3bey
https://dl.doubtnut.com/l/_Ef2TW7bQJIWL

72. Let's find the values of the following — (225) + ( — 3)

o Watch Video Solution

73. Let's find the values of the following — 169 + ( — 13)

° Watch Video Solution

74. Let's find the values of the following — 100 = ( — 5)

o Watch Video Solution

75. Let's find the values of the following -

(—81) = (-9



https://dl.doubtnut.com/l/_Ef2TW7bQJIWL
https://dl.doubtnut.com/l/_5rddnLPSiqGr
https://dl.doubtnut.com/l/_ynLxmx9tiZMi
https://dl.doubtnut.com/l/_FskaZkc5wn6f

[ o Watch Video Solution

76. Let's find the values of the following -

(—150) = (— 5)

° Watch Video Solution

77. Let's find the values of the following -

(—121) + ( — 11)

° Watch Video Solution

78. Let's find the values of the following -

(—275) + (— 25)


https://dl.doubtnut.com/l/_FskaZkc5wn6f
https://dl.doubtnut.com/l/_CbOxreYmLJqa
https://dl.doubtnut.com/l/_tYhzxdBzfK6a
https://dl.doubtnut.com/l/_PdnuuzIy1PX1

o Watch Video Solution



https://dl.doubtnut.com/l/_PdnuuzIy1PX1

